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Why is Ibur Tzooroh required — Im9x 29w o0 b

OVERVIEW

The X773 cited a X072 which stated that there was a small pit near the narn where
they would throw the 7w nXvn which became 9109, and after 711% 212% it would be
burnt. The X3 asks if nvy77 70°7 is a M7 709 (as 2" maintains), why was the
77X T12°Y necessary, since we learnt in a mwn that a 7137 9109 is burnt immediately
(however a 7109 in the 07 or the 0°%¥3, requires 7MY N2V first).

nvon asks:
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The "7 has a difficulty; perhaps this o2 (which the Xn>>92 states that it requires

771X M2°Y), is a 7100 either in the blood or the owners, which requires 771x 112,
as mentioned in the mwn?*

N1B0IN answers:
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And one can say; nevertheless once the 2105 nXvri was thrown into the 1%, there
is ny77 neom. This answer was offered by JamoR 2'"=.

SUMMARY
Even a 0°%¥221 072 7109 (which requires 7% 712°Y) should be allowed to be burnt
immediately once there was ny771 no°1 (it was thrown into the 71%) according to 5".

THINKING IT OVER

According to moon answer,” there seems to be no need to cite the Xn™2 (of the
719); the question on "1 should be from the 7w of \nM¥ 72wn 0°%va21 073, why is
778 M2 necessary since at this point there is certainly ny7:1 no?’

' 7718 M2°y (changing the face) refers to the process where if there is a certain (questionable) 7100 by 2*w7p, we leave
it overnight so it becomes (7M1 or) ruined — 771X M2V and then it is burnt.

? For instance the o7 spilled out and could not be thrown on the ram.

? For instance where the owners of a oo 121 died so there is no one remaining to eat the 11od 127p.

* See ‘Overview’ (last parenthesis).

> Once it was thrown into the %1% and there was ny77 o 7 it should have been burnt without 771¢ 112>y, See “Thinking
it over’.

® See footnote # 5.

7 See XM 727,
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